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QUESTION PAPER SPECIFIC INSTRUCTIONS

Please read each of the following instructions carefully before attempting questions :
There are EIGHT questions divided in TWO SECTIONS and printed both in HINDI and in
ENGLISH.

Candidate has to attempt FIVE questions in all.

Questions No. 1 and 5 are compulsory and out of the remaining, any THREE are to be
attempted choosing at least ONE question from each section,

The number of marks carried by a question/part is indicated against it

Answers must be written in the medium authorized i the Admission Certificate which must
be stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space
provided. Mo marks will be given for answers written in a medium other than the authorized
one.

Word limit in questions, wherever specified, should be adhered to.

Assume suitable data, if considered necessary, and indicate the same clearly.

Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a
question shall be counted even if atterpted partly. Any page or portion of the page left blank
in the Question-cum-Answer Booklet must be clearly struck off.
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1.

1.(a)

1.(b)

1.{c)

1.(d)

L.(e)

2.(a)

T us ‘A’ SECTION ‘A’

Frfafas Wl # F weT =7 S0 S 150 Yer ¥ g
Answer the following in about 150 words each : 10=5=50

ST WA AT U W S gHeey | e e w6 9 § 7
Explain the concept and nature of accounting standards. Why are these needed ?

10
- e e frofa § s A 8 7 g Primansd @ dow |
AHHTE |
What are the costs used in managerial decision-making ? Explain, in brief, their
characteristics. 10
s affEn % werla, s awea sfad’ s = o= oW ofieE s
‘Frardt” =fer & fom wor fam B 2 7
In what way does the liability of tax of a “not ordinarily resident” person differ from
that of a “resident” person under the Income Tax Act? 10

qET 35D T 35 ¥ Fwid, @t @ o s & foau afEnt s daeda

wga wEEE & aEEE |
Explain the major provisions of compulsory tax audit for claiming deduction under

section 35 D and 35E. 10
AR S % W g8 o wwen |

Explain, in brief, the functions of cost accounting. 10
w ar e ffiz @ 31 W, 2017 W geewE Fefafaa @

HIvI] v et 7
20,000 ifFEt i 20,00,000 | Tl 25,000
(wler §=w % 100) ‘rﬂﬁ Td 1,50,000

I e 3,00,000
12% fed=r 5,00,000 | 80,000
i 2,70,000
. Ei 60,000

e Tes=g = 1,20,000 :
o@F W T 35,000
yrfis =g 20,000
R 3,00,000 | 2 & wfy @ 19,80,000
29,20,000 29,20,000
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(i) et = wfa 9 F95 @ 9 & fon W B | 5 g, v ufy e
10 % 10,000 ¥ SR A wafe e s 2

(i) Teemrar oo o fdew e & wEm f owfigh 33 ¥ ) afnl ¥ e
i, 129 femm =1 14% fid= # ofiafa s« o s 2, 25,00,000 @8 99
2

(iii) *eRt @t 7w fawes fan s & B ar @ 3 o gt % f wEm A 50%
e wiEr # smar we grE w0 osfERd G (vl e 210) # oftafle =
o | #2,00,000 F SER A9 wET H g g 9l W fees g

(iv) 99 werl & sl F o R e e W feer g @ v siie
gat = "ge F fm e ' T W 50,000 R SR (v 9 210) =
Frtfira st ®, @ s ot WEw ST W 3T R | 9 Feiee ool s

BAT |

(v) =i uF e = F2,00,000 R FEA oo @ wm fE owliisd s o =
¥2,10,000 %% T aman 2 | i o1 B9 95,000 1 wrEdE fEen oma g

s e wiafeat @ifae s gl & g g e @ ged T AR
aifam |

The following is the Balance Sheet of XYZ Ltd. as at 31st March 2017,

Liabilities Z Assels L4
20,000 Equity shares 20,00,000 | Goodwill 25,000
of F100 each Land & Buildings 1,50,000

Plant & Machmery 3,00, 000

12% Debenture 3,00,000 | Fumiture 80,000
Outstanding Stock 2,770,000
debentures interest 1,200, R0} Debtors 60,000
Cash at Bank 35,000

Creditors 3,00, 000 Preliminary expenses 20,000
Profit & Loss Alc. 19,580,000

29.20,000 29.20,000
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The following is the scheme of reconstruction :

(i) Equity shares are reduced by ¥95 per share. They are, then, consolidated into
10,000 equity shares of ¥ 10 each.

(i} Debenture holders agree to forego outstanding debenture interest. As a
compensation, 12% debentures are converted into 14% debentures, the amount

remaining ¥ 35,00,000. .

(iii) Creditors are given the option to either accept 50% of their claim in cash m full
settlement or to convert their claim into equity shares of 10 each. Creditors
for ¥2,00,000 opt for shares in satisfaction of their claims.

(iv) To make payment to creditors opting for cash payment and to augment working
capital, the company issues 50,000 equity shares of ¥10 cach at par, the entire
amount being payable along with applications. The issue was fully subscribed.

(v} Land and Buildings are revalued at ¥2,00,000 whereas plant and machinery is
to be written down to 2,10,000. A provision amounting to 25,000 is to be
made for doubtful debts.

Pass necessary journal entries and prepare the company's balance sheet immediately
after the reconstruction. 20

)  Fwdt Sl @ geae e gEe weEl @ @ TR AR Pl g B | Tl o @
% WA =en & was whEn § ame afy (Gew) o

EET e fes wfa & fem g3

- T (A) 2% 25 & wfa ==k

it (B) 4% 50 %3 wfy zas

#t (O 2-5% 60 99 wir w=rd

=Y T OYEE 9 ¥

ECIu WEH T PE | wEH
AT 12,000 10,000 3,000
W 59 16,000 5,000 4,900}
Fmfft = 2,000 3,400 3,590
i = 3.500 2,005 2,004

EGT-P-COMA 4



T T W 13,560 1 ®FE A WEfEE ®9 # 4,000 THEAl 4E RO | WEE WEE
# T 3 W 9

EET FeTEA
L 3,850 wERTEAT
il 3,600 FETEAT
it 3,500 TSl
WA @ = ue 98 w0 W Fifen B e g oW 20% W oy = wg, ol
=t fasra e geTlen wiw W R B 15

The product of a company passes through three distinct processes to completion.
From past experience, it is ascertained that the normal wastage in each process is

as under :

Process Wastage Sale value of wastage
A 2% 25 paise per uml
B 4% 50 paise per unit
C 2:5% 60 paise per unit
The expenses were as follows : ¥F
Particulars Process A Process B Process €
Materials 12,000 1, D0 9,000
Direct labour 16,000 5,000 4,900
Manufacturing expenses 2,000 3,400 3,590
Other factory expenses 3,500 2,005 2,004

4,000 units were initially introduced in process A at a cost of ¥13,560. The output

of each process was as under :

Process Output
A 3,850 umits
B 3,600 units
L 3,500 units

Prepare process accounts and also work out the sale price per unit of finished stock
so as to realize 20% profit on selling price.

5
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2.(c) ﬁuﬁﬁ@mﬁmaﬁﬂaﬂtaﬂﬁﬂﬁhﬁmﬁaﬁﬁﬂﬁéﬁw

arEg & 7
What are the provisions of inclusion of the income of a minor child and the wife of
an assessee in his total income 7 15

3(a)  wEE (40 =H) i Fakr o 2018-19 F Frm w-drg amg $i woen Hifsw .
7

s @ e #ma 2,00,000
T ¥ BETERW § GHEEE GEiE @

(af fem ==@ym F wven & 9mE) 6,00,000
Ty FTA F RO § S e Wy

(zremiv & =15 VAT

(TR W 72,50,000 F 20% W F o AG N e ¥ A F
#6,00,000 F1 10% F | H) 2,50,000
= 4 s, foaw 98 wee ®, W W 3@ A9 82,000
e I @ Sfiw (30% & = e @ FEe) 70,000
% &t ol S W

— g & AW H O 1,17,000
— Ao g7 & A 1,450
— AT g & AR 8,000
— arfery sfaEnfes oot & = 70,000
w74 67 =fig =% o § Afeww e w o =m

(v o anfya, famgm =afi) 8,000

atfert gt % waen W wnaw @ 7 e s wg fao
o1 &1 At (G uE sty-ghe matd derm @ fn s @) 6,90,000

T—_lq’ﬂfﬁﬁi_ﬂ]‘q'{ =T = P 76,000
sofer afigfra aufd dem = A 5,000
Frefenr w0 2014-15 @ Fdftm vF == sEaE & swaifa el 26,000
AErE 10, 2017 #1 wH B A €1,15,000 % Fencren 96 W wA

(v T =R F1,70,000 ) 1,15,000
i wfeasy fafty e & 9 o9 o uE ot I 5 W W 1,63,000
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3.(b)

Compute the taxable income of X (40 vyears) for the assessment year 2018-19.

Ed
Net income from trading business 8.00,000
Long-term capital gain on transfer of debentures
(if computed without indexation) 6,00, 000
Long-term capital gain on transfer of listed debentures
(computed after indexation) (X wants to pay tax at the rate of
20% of ¥2,50,000 and not at the rate of 10% of ¥6,00,000) 2.50,000
Share of income from HUF in which he is a member 82,000
Winning from horse races (net of TDS of 30 per cent) 0,000
Interest on bank fixed deposits :
— Depaosit in his own name 1,17.000
— In the name of minor son 1,450
— In the name of minor daughter 8,000
— In the name of major unmarried daughter 70,000
Expenditure incurred for medical treatment of his 67 years
old elder brother (dependent of X, being a person with disability) 8,000
Repayment of loan taken for part-time studies of
major daughter for graduate course i management
(loan is taken from a notified charitable institute) 690,000
Payment of interest from the aforesaid loan 76,000
Donation to the aforesaid notified charitable institute 5,000
Brought forward loss of a discontinued business
pertaining to the assessment year 2014-15 26,000
Purchase of a work of art on November 10, 2017 from a friend
for 21,15,000 {market value is, however, ¥1,70,000) 115,000
Deposit in Public Provident Fund account and purchase of
NSC IX issue 1,63,000

25

U FAL & wEAe # w famdl @t aaersd oo Forsn st F fator & aem
o T o 2 | =ew T SN % WEE S ARy H W WEE & wiE-
FH A Feer 7

State the points to be considered while determining divisible profits in case of a
company. What are the auditor’s duties m regard to payment of dividends by a

company 7 15
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3.(c) Tt wae faaw ¥ defim WHE AdER WEE & W gEEHl S ey §

quATE |

Explain, in brief, the main provisions of Indian Accounting Standards regarding

cash flow staterment. 10
Aa) 3197, 2016 F gy we ffiee & feafafer 9w 2
Fm (2fe) 7 w41 (%fE2) ¥
qfH T WA 30,72.000 | 9 91 (4,00,000 40,00,000
e TH WAL 33,00,000 | 9% F10 W)
Iih 7.50,000 | 12% R99H 30,00,000
fafirm TER 8,70,000 | wr-grf @ 2,62,500
TEfFe 2,50,000 | 3 fa= 3,70,000
a4 T g 4,06,500 | 9¥ER 4,00,000
Tl A 75,000 | Tawa 41,50,000
ygd HICE T 3.02,500 | AT wfEfd 2.50,000
wlmrEr 18,50,000 | saem = 35,000
wifias =93 50,000 | (01.04.2015 Ft wraLw)
g A 9,79,800
HATH wE 68,350
T 202,250
™ 21,100
Wae HUMH W =TS 1,80,000
1,24,67,500 1,24,67,500

frafafies afafes omefan sgay €.
(a) TAVE UH WIGE W 15% FIE HE

(b) wifirs =/ | €5,000 | =2 @R e

(c) =md =g = fEEe =mw

HTeh

(d) Fert & fom wifes soll we 5% T T WIEHT
(e) ¥ = =% forg 50% & W W wEEA W

() 31 7, 2016 FF w=iF #9,50,000 =0

(g) @ard efrgfd ¥ 225,000 % ww T w0 weAt fEe aw w R

o & gfem A aEE |
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4.(b)

The following are the balances of Bhushan Co. Ltd. as on 31st March, 2016 :

Debit 2 Credit E

Land & Buildings 30,72.000 | Share Capital 40,00,000
Plant & Machinery 33,00,000 | 4,00,000 shares @ 10 each
Stock 7,50,000 12% Debentures 30,00,000
Sundry Debtors 8,770,000 P/L Alc. 2,62.500
Goodwill 2.50,000 | Bill Payable 3,70.000
Cash at Bank 4,060,500 | Creditors 400,000
Calls in arrear 75,000 | Sales 41,50,000
Interim Dividend paid 3,92.500 | General reserve 2.50,000
Purchases 18,50,000 | Bad Debt 35,000
Preliminary Expenses 50,000 | (Provision on 01.04.2015)
Wages Q.79 300
General Expenses 68,350
Salaries 2,02,250
Bad debts 21,100
Debentures interest paid 1,80,000

1,24 67,500 1,24,67,500

The following additional information 15 available :
{a) Depreciate Plant & Machmery by 15%

(b) Write off 5,000 from Preliminary Expenses

{c) Half-year's Debenture interest due

(d) Credit 5% provision on Debtors for doubtful debts
(e} Provide for Income Tax @ 50%
(f) Stock on 3lst March 2016 was ¥9,50,000
(g) A claim of ¥25,000 for workmen's compensation is being disputed by the

company.

Prepare Final Accounts of the company.

20

“FE el geE-T ol i sarde o €0 awensd | Fend
. w-Frordr oftemfagt & e fadma fifim

“The audit of banks is the audit of balance sheet and advances.” Explain. Distinguish
between performing and non-performing assets.

9

EG

20
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4.(c)

5.(2)

S.(b}

5.(c)

5.(d)

5.e)

Yo A Frafen @ = # avEl & Faew F fao o warE e e |
a4 ot e s &1 =@ w9 & v A, As Jrw Faim F Sse st

wHHATEY |

“Standard costing is umiversally accepted as an effective mstrument for controlling
costs in industries.” In the light of this statement, explan the objectives of standard

costing. 10
gus ‘B’ SECTION *B°
Frmfafag wwt # @ weds =1 I9¢ w9 150 =51 # St

Answer the following in about 150 words each : 10x5=50

wig fasfn Fnfgl, wfwfE (Red), Sifn o =m o & &9 g @
AT g fifag |

Critically examine the relationship between the key financial decisions, return, risk
and market value. 10

Yo A favem, vevaE, favehn ow At arad aae (sEaeedl o e
ST ) SR W= W AR BT | A4l W 9rEE € | Wedds |/ W as |
RSS9 FEE ATHAAAT & VI R AaeEy |

“ABC Analysis, FSN Analysis and Inventory Turnover Ratio are the most commonly
used tools of inventory management.” Explain each tool in brief and state the
reasons for their popularity. 1

frar Fofas wepm 3 Siflaw = wnfae &30 & Feafafae ade & faesmn oo .
s garEfm gz fafy va Sfvsaa qemm fafl )
Discuss the following ways of incorporating risk in the mvestment decision making

process : The Risk-Adjusted Discount Method and The Certainty Equivalent
Method, 10

et mTeT o et el grEt & v, St 6 afoosaan, o fefa 6 wefifa
oA AT BTET @ e AT, FET o W UE HEA ST i W o SATHI 9T
fermn = wepam & 1 Ettg d FiE @ gy e i

“Financial markets can be classified based on types of financial claims, maturity of
claims, claims representing new 1ssues or ouistanding issues, immg of dehivery and
nature of its organisation structure.” Summarise the classification in brief. i

T it #, ‘R % g vae ivfem sreivnEr € s St ) e owE F

siftgn v o Frafon & oo Gefem g sar-wn weftss seerma oo o € 2

Explain the rating methodology used by CRISIL in debt rating. What symbols are
used by CRISIL for determuning the risk level of a debt instrument ? i

EGT-P-COMA 10



6.(a)

6.(b)

w3, Fafnz feaffm em A i w i @ 3 .

fererrma
(A) Fu faga (2 @@ #) 10-00 9.60) 12-00
(B) wuw smafi (Rt #) 30 45 60
(C) g = (w1 wfe) 5 4 6
(D) TUR WA F WOE (¥ W@ H) 0-40 025 | 050
(E) aitm dwe wmfy (Rl 4) 45 50) 70

T fagm W 40% IS W S R ST aWEl § | SEe W W saEws
afmfey w0 (e aiw fed) witad 200% % | 7 & e =f & 365 e 8 1 ama =1 g
2 fr werdt & foo - SaR-wafy-fiee o s 7

ABC Ltd. is considering the following credit policy alternatives :

Piirticulics E‘I’:;Ti‘;;g th:"“ Hpn
(A) Credit Sales (¥ in lakhs) 10000 .60 12-00
(B) Credit Period {days) 30 45 6
(C) Bad Debt (% of sales) 5 4 i
(D) Cost of Credit Administration (¥ in lakhs) 040 0:25 0-50
(E) Average Collection Period (days) 45 S0 70

The company expects to achieve a contribution of 40% on sales. It has the required
rate of return on investment of 20% p.a. Assume 365 days in a year. You are required
to suggest which credit period option is more suitable to the company.

‘Ffirg wraiem 6 Frafafe s 99 2

—_srﬁrﬁmm
— fraeii o ofmfE =

T 400

— St gro afea afefEn @ (T ais fed)
af? faraz s 40 whas ? 50 wiwe 7 60 Wl @ 7 A qwet wiEe F AFER

wfer w7 g eni 7

18%

15%

20
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T.a)

The following information is available for KRISHIV Corporation :

— Earning per share F4-00
— Rate of return on investments 18 per cent
— Rate of return required by shareholders 15 per cent

What will be the price per share as per the Walter Model if the payout ratio is
40) per cent ? 50 per cent ? 60 per cent 7 15

“fielt it Ft wilta des 4 arm (s e wRe w ek s @
=t w i fAw ok e Aifdl & aw g ¥ )7 wew A e

“The Weighted Average Cost of Capital (WACC) of a firm, depends on many factors
which are beyvond the control on the investment and financing policies of a firm.”

Explamn in brief, 15

e fafis R AaR Seng g AEeEE gedl § ¥ uw & fafmin s e
AT ATt ® | EE w3 feen @ - um, 999 FREE agidat § ST 9@
a0 e ffda s |
et adfar et & whed 6000 afvd € s = w125 why ofe o w
smafed et &t g wafifa @ R

afs wew = mwemE Ghem 2 2 @ owme fu aees g B oaee
F10 @@ BRf U4 WS 99 % 9yEr 99 AHIMA a9E e ¥2 W T
sififes et wwa (g S S5E0) FAEHG: dgak 31 A wfa ad gel | wed
Hew & fmim W qfedasie amE 230 i gie 2 | e 35 whem R E
st 2 | =0 wigeer & forn et @ 15 wiawm ¥ | e F st i
ST 9i9 a9 89 7,500 gfe Wiy = % | wDv faft & smem W e e
wrete 5T 25 Wi #

Tt it e Sfn fr wmet @l angfieat § s e w9l s EmE -
famtor wrs =T Tifew | @ @ o Sae fire gl wied st @ fad 6000
afel &t srEggEa €, @ 8 |

Tt 1 2 3 4 5
F1HT 15% T qAHE T | 0870 | 0756 | 0658 | 0572 | 0497
T1 Tt =1 admE g7 | 0-870 1-626 | 2283 | 2855 | 3352

15% 9%

EGT-P-COMA 12



T4b)

MNamya Ltd, wants to prepare the feasibility of manufacturing one of the components
needed for its finished product. It has two options of purchasing from its present
supplier or to manufacture it in-house.

Its present supplier has shown the willingness to provide at 125 per unit for the
company's requirement of 6000 units per year.

If the component is manufactured in-house, it requires equipments costing
210 lakh and is expected to have salvage value of ¥2 lakh after the expiry of five
years. Additional fixed cost (excluding depreciation) are estimated to increase by
%1 lakh per year. The variable cost of manufacturing each component will be
730 per unit. The company is subject to a 35 per cent tax rate. Its cost of capital
is 15 per cent for this project. The company’s projected annual needs is at 7500 units
per year for 5 years. The tax relevant rate of depreciation is 25 per cent based on
WDV method.

Advise the company, whether it should continue buying from outside supplier or
start its own manufacturing. Will your answer be different if the requirement of the

company is only 6000 units per year ?

Year I 2 3 4 5
The present value of 0-870 0-756 0658 0572 0-497
¥1 at 13%
The present value of an | 0-870 1-626 2-283 2-855 3:352
Annuity of 1 at 15%
20

‘wr Aeggeato fafiee & i Sme 4ot $5,00000 ®, (sifeR T F10)
foFaR AT $ e & ga e F fe, S $3,00,000 ST AR @)
Fifidt = == & fo, werll Preafafies =ar Yoo ot = e = @ 2

qre & ;) i Hee SR R W T

demE ;¢ e SR v 22 e e dee 310 whea wiied s s w®
ST |

dmer gt Al T3, w6 A 10% wiEd e w o |

AT . F1 AT S @ Ud T2 9 8% WieEd wrEn 9 et e % e

ferecie Ao iR o T T F1,50,000 3T WIE T S 0T T | T W
35% &% T A0 & | IOTH AT g S |
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T.dc)

8.(a)

Mayur Manufacturing Ltd. has equity share capital of ¥5,00,000 (face value
F10). To meet the requirement of expansion plan, the company wishes to raise
¥3,00,000. The company is considering the following four alternative sources 10
raise the funds :

Plan A:  To have full money from the equity shares.

Plan B :  To raise ¥1 lakh from equity and 2 lakhs by borrowing from financial
institution @ 10% rate of interest per annum,

Plan C :  To raise full money of ¥3 lakhs from bank at 10% rate of mnterest per
AL

Plan D : %1 lakh in equity and ¥2 lakhs issue of preference shares at 8% per
annum dividend,

The company is expected to have eamings of ¥1.50,000 after the expansion

programme. The tax tate applicable to company is 35%. Suggest the suitable plan.
15

el Fart 3 foava 3 s Rl i ar PR e @ wfnf o

G C | E A

(i) e s (fie d aguE)

(il) =ATH LA I

(i) @itea woe F=Y

(iv) fafmfaa o=t = iR

(v) SHd — #@ FIT

Define and evaluate the following ratios used for analysis of financial statements :
{i) Acid-test ratio

(i1) Interest coverage ratio

(111) Awverage collection petriod

(iv) Return on capital employed

(v) Price — earning ratio 15

o & o 3 Fafm sgoe fofon & wie-aim @ fafim smae d # 7 sl
w1, aftmfen ud watte o 6 oaf & fer e fif o A faiRa 6
i

What are the different bases for establishing the exchange ratio in case of a merger 7

How the boundaries for exchange rate is determined from the view pomt of
acquiring, acquired and combined firm 7 20
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B.(b)

8.(c)

R # g g sae oo B e R
Discuss the state of the venture capital industry i India. 15
A s s e el fR Gt wee Gt frew & o B @ F fg g

it 1 @ga dif | Frefafa sl = seeme @ g, o us See
e w0k, auesy T anfde we fea v @ R & we wila w2

gary Fafie v ww fafiiee v wifiem aoft & € | o fafiee & o o Gt
2 | am fafer ¥ am 26w @ RS O 2 ) s faaw Frefolaa €

o

faram ww fefies am Tafies
Tima ofmma am (%) 10,00,000 10,00,000
9 A= (F) — 3,000,004
Eui C Cay B — 10%
it deflaam 32 14% 18%
stea et @wE 14% 14-52%

o P 3 am fafies & 1,00,000 991 F i S e o @ o ) 9 fae
WEfaew w FgATEn 7
State the assumptions made in Modigliani and Miller Proposition-1 that the capital

structure is independent of capital mix. Explain with an example that how arbitrage
process justifies the theory, using the following data.

Shyam Ltd. and Ram Ltd. belong to same risk class. Ram Ltd. has no debt capital.
Shyam Ltd. has both debt and equity capital. Other details are as under :

Particulars Ram Lzd. Shyam Ltd.
Net Operating Income () 10,00,000 10,00,000
Debt Interest (%) — 3,00,000
Debt Capitalisation Rate — 10%
Equity Capitalisation Rate 14% 18%
Average Cost of Capital 14% 14-52%

One investor is holding ¥1,00,000 worth of equity shares of Ram Limited. What
arbitrage will he resort to 7 15
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